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21 N3, these are the n1na2 3195 o2 N, these are the nyaw: >»s

OVERVIEW

The 770 writes two phrases concerning the emancipation of an 7°72¥7 7K
from her master; 011 fAXX"™ and 70> 7X. The XN*972 interprets these two
phrases to refer to two successive stages of maturity, N17¥1 and n1732. The
XN*"2 attributes DI XYM to M3 and A0 PR to MWl Our Mmoo will
explain why this association is used, and not the reverse.

nooIN asks:
— znm: 3% 977 59V 9 OIN \9173)25 59 1Y XY 99N ON)

And if you will say; the Xn>>72 should have first mentioned (that 2117 7XX1)

NP3 %0 R and later (that A0 X is) naas .’ Why does the Xn>>m2 interpret
the P10 in a reverse order (from older to younger)?

N1B0IN answers:
— 1Y 319 NRPINY PN G0 PRT DIYN Y Y

And one can say; the reason he mentions M7yv1 last is because it is

necessary to establish the phrase 'ne> PR' for nyay: " -
— *9AN 1YRY G0 Y YA 9999 ININTS

" This Moo (seemingly) should be before the ¥11 "7 Mmoo, Others (including the *"19) explain why this
npoIn was inserted here after the m732 7"7. See also 1"»X footnote # 132. See w"X777 NMdOIN, where the
discussion of this NvoIn is mentioned under the 7"7 of N>117»X7 1327 KX 737%1 X?; indicating that this moomn
is dealing with n°1%9»R7 732. See following footnote # 3.

* The X"w1mn explains that maw1 should be mentioned first for that is what is necessary to be taught (she
ultimately goes out by M7v1, not by n11x2), just as we find by 2w 2wn that the 7710 writes 2wIn before
70w, for the main lesson is that even a 2wIn cannot eat 17N, The same should be here by mvz.

7 If we assume that this Mmoo is discussing N°119&7 732 (see footnote # 1), then MdON question is that *»
M1 which is the more usual (and earlier) nX°¥> should be mentioned before the (later and) uncommon
X% of N9 K7 2 (which is [somewhat of] a novelty). This interpretation also avoids the (seeming)
contradiction between this md01n which argues that N17v1 should be written first, and the previous msoin
X2 71"7 where he states that m732 is written first because it is 9N AX71. The contradiction is only if we
assume that our mooIN is discussing a ‘normal’ N1321 M1, However if we are discussing M7yl and 32
n N7k, then N1 should take priority.

* We interpret the phrase of 795 PX which is written concerning an 7, that when she reaches a certain
maturity she leaves the 117&% without giving him money [0 1X], however when she leaves her other master
(her father) at that same age of maturity (through marriage) the father does receive money. The father
definitely does not receive the 1wI7°p 703 of NX2 N3, therefore the 71°% of AR TR A0 W YaK 191 703 PR
must refer to M1 (and by default 2117 7xx" refers to N7x2).
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As the X773 previously interpreted that the phrase of 70> "X teaches us that

‘however there is 9mR 178> n©>° which refers the to rule that the father receives the
money for his daughter’s Pw17°p -
$H2 N2 FYYITPA INIT AND PNRT MIYI 12 131 NT

And this is only during the nyaw1 >»s, for the father has no right in the

121799 of his daughter when she is a n9a13.° Hence 703 1% cannot be referring
to M732 »; therefore we interpret 217 AXX™ for N1732 and 72 7°X for MWL

SUMMARY

705 R must refer to Mv1 "> for it is from this verse that we derive w° 92X
IR NTR? 702, which is the father. The father can only receive the 1217°p 703
from 777¥1 102 but not from N2 1N2.

THINKING IT OVER

Why can we not make a similar 7w27 on 0111 XX (instead of the 7w27 of X
703), and say 7 1TRM QI ARX™ but MR NTRD DIT2 NRXYP PR, then we would be
able to say 21 M1 1 19X DI XYM ?!

5 See M2 "7 *"wA and NBOWN on 31 "7 2,0,
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